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IE 4 K e OUT | IN |TOTAL|HDCP| NET IE 4 K % OUT | IN |TOTAL|HDCP| NET
& B NG BB 39 | 40 | 79 13 | 66 & B iE K& 44 | 39 | 83 | 24 59
HEE BT BEZ 38 | 32 70 3 67 R Il BF 42 | 40 | 82 | 21 61
3 i R BX 36 | 34 | 70 3 67 3 i THHRE 42 | 38 | 80 | 18 62
4 fi =R EK 39 | 39 78 11 67 4 fi K& B 44 | 47 | 91 23 68
5 i HiE €5 38 | 39 17 8 69 5 i AR —% 44 | 41 85 | 16 69
B-G HII B 38 | 32 70 B-G THHRE 42 | 38 | 80
78 FE_AMHF A H R B x 7H HE_HBftF B # B £ =
JI—-KITA4 +DE JI—-KI7A4 +DE
IE 4 K e OUT | IN |TOTAL|HDCP| NET IE 4L K % OUT | IN |TOTAL|HDCP| NET
& B EH A 39 | 40 | 79 9 70 Z % i PAN - 4] 38 | 48 | 86 | 28 58
HEE BEH XE 39 | 42 | 81 11 70 R & BAE 39 | 42 | 81 20 61
3 i ohE = 38 | 38 76 4 712 3 i Ei6 EWR 41 42 | 83 | 17 66
4 fi a4 B 44 | 37 | 81 8 713 4 fi BBz 49 | 46 | 95 | 29 66
5 i B RX 44 | 38 | 82 9 713 5 i &% 18 44 | 51 95 | 28 67
B-G Bl &= 35 | 38 73 B-G & BAE 39 | 42 | 81
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